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uksV & iz'u i= rhu [k.Mksa esa foHkDr gS A lHkh rhu [k.Mksa ds iz'u funsZ'kkuqlkj gy

dhft;s A vadksa dk foHkktu izR;sd [k.M esa fn;k x;k gS A

Note: Question paper is divided into three sections. Attempt question of all three
section as per direction. Distribution of Marks is given in each section.
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[k.M & ^v*  Section - 'A'

izR;sd bdkbZ ls nks iz'u gy dhft;s A

Attempt two questions from each unit.

vfry?kqmRrjh; iz'u] 'kCn lhek 30 'kCnksa esaA (10x2=20)

Very short answer question (word limit 30 words.)

bdkbZ & I  / Unit -I

1- MkVkcsl flLVe D;k gS \

What is Database system ?

2- DBMS ds D;k Qk;ns gSa \

What are the advantages of DBMS ?

3- DBMS esa MkVk ,SDVªD'ku ls vki D;k le>rs gSa \

What do you understand by DATA ABSTRACTION in DBMS ?



bdkbZ & II  / Unit -II

4- fjys'kuy dSydqyl ls vki D;k le>rs gSa \

What do you understand by RELATIONAL CALCULUS ?

5- vkWfMV Vªsy ls vki D;k le>rs gSa \

What do you understand by AUDIT TRAIL ?

6- ,Sl'kZu ls vki D;k le>rs gSa \

What do you understand by ASSERTION ?

bdkbZ & III  / Unit -III

7- QaD'kuy MhisUMsUlh dks ifjHkkf"kr dhft;sA

Define FUNCTIONAL DEPENDENCY.

8- MhukeZykbts'ku ls vki D;k le>rs gSa \

What do you understand by DENORMALIZATION ?

9- VªkftfVo fMisUMsalh ls vki D;k le>rs gSa \

What do you understand by TRANSITIVE DEPENDENCY ?

bdkbZ & IV  / Unit -IV

10- DBMS esa pSdikbaV D;k gS vkSj ;s dc vkrs gSa \

What is checkpoint in DBMS and when does it ocur ?

11- baMSDVl D;k gS \

What is INDEX ?

12- ,SDlDywflo o 'ks;MZ ykWd esa D;k QdZ gS \

What is the difference between EXCULSIVE LOCK and SHARED LOCK ?
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bdkbZ & V  / Unit -V

13- SQL D;k gS \

What is SQL ?

14- DUAL TABLE D;k gS \

What is DUAL TABLE ?

15- flaVSDl o juVkbe ,Sjj esa D;k QdZ gS \

What is the differece between SYNTAX and RUNTIME ERROR.

[k.M & ̂ c*  Section - 'B'

y?kqmRrjh; iz'u ¼'kCn lhek 60 'kCn½

Short answer question (words limit 60 words) 5x4=20

lHkh iz'u gy dhft;sA

Attempt all questions.

bdkbZ & I  / Unit -I

16- DBMS Language ds izdkj le>kb;sA

Explain different types of DBMS Languages.

vFkok@OR

fofHkUu izdkj ds MkVkcsl ;wtj le>kb;sA

Explain various types of Database users.
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bdkbZ & II  / Unit -II

17- DBMS esa ER Model D;k gS \ le>kb;sA

What is ER Model in DBMS ? Explain.

vFkok@OR

fjys'kuy ekWMy D;k gS \ le>kb;sA

What is RELATIONAL MODEL ?  Explian.

bdkbZ & III  / Unit -III

18- izkbejh ,oa vYVjusV esa D;k QdZ gS \ DBMS dh KEYS le>kb;sA

What is the difference between PRIMARY KEY  and ALTERNATE KEY ?

Explain keys in DBMS.

vFkok@OR

tkWbu fMisMsalh le>kb;sA

Explain JOIN DEPENDENCY.

bdkbZ & IV  / Unit -IV

19- ACID izkiVhZ le>kb;sA

Explain ACID properties.

vFkok@OR
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MSMykWd ls vki D;k le>rs gSa \ le>kb;sA

What do you understand by DEADLOCK ? Explain.

bdkbZ & V  / Unit -V

20- ORACLE esa MkVk Vkbi le>kb;sA

Explain Data Type in ORACLE.

vFkok@OR

ORACLE esa Join operation le>kb;sA

Explain Join operation in ORACLE.

[k.M & ^l*  Section - 'C'

nh?kZmRrjh; iz'u&

Long answer question: 2x10=20

fuEukafdr esa ls fdUgh nks iz'uksa dks gy dhft;sA

Attempt any two questions from the following:-

 bdkbZ & I  / Unit -I

21- DBMS esa MkVkcsl flLVe LVªDpj le>kb;sA

Explain Database system structure in DBMS.

bdkbZ & II  / Unit -II

22- fjys'kuy ,Sytsczk ds vkWijsVj le>kb;sA

Explain operators of RELATIONAL ALGEBRA.
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bdkbZ & III  / Unit -III

23- DBMS esa ukWjeykbts'ku D;k gS \ le>kb;sA

What is Normalization in DBMS  ? Explain.

bdkbZ & IV  / Unit -IV

24- Qkby vkWxZukbts'ku le>kb;sA

Explain FILE ORGANIZATION.

bdkbZ & V  / Unit -V

25- PL/SQL esa fVªxj D;k gS \ le>kb;sA

What is Trigger in PL/SQL ? Explain.
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